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You are an Investigatin officer; the
primary accused in a VIP assassination
case 1s offering huge bribes for
manipulating evidence and influencing
judges to ensure acquittal. You should :
A) avoid investigating as per your
independent professional judgement.
(B) remain uncorru ted and present
facts transparent g in court.
ut submit weakly
: abricated bogus evidence.
(D) comply on records ‘but secretly
~ collect dialogue against accused.
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You are stationed as a police officer;
prevent further cases oP card cloning at

ATMs, you should :

(A) purchase . card cloning . machine

s to understand methodology.
(B) g{%ﬁ% ATM machine access logs

lies. )
© ;cl);c%ngxrlgaobserver each in all ATMs

to identify suspicious-accomplices.

" (D) temporarily disable all ATMs in.

the jurisdiction.
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You are a constable in a special cell that
deals with cyber crimes and online frauds.
You have been trained in various aspects
of cyber security and digital forensics.
Howev.er, due to'a shortage of staff, you
are assigned to a patro] duty where you

have to patrol the streets ang respond 10
emergency calls. You feel that this is 2

* boring and mundane task that does not

Suit your expertise. You should :.

@) do the patrol duty enthusiastically

and leam from the experiences of
_ other patrol officers.
(B) do the patrol duty reyctantly and
complain about it to your superiors -
and colleagues, .
(C) do the patro] duty but constantly
look for OPPortunity of taking leave.
(D) ' refuse to do;the patrol duty and
- insist on staying in the cyber cell.
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In the climax stage of a nationwide terror
manhunt, you learn your only parent
suffers a debilitating stroke. You should :
commit singular focus expecting
siblings to handle parent.
(B) remotely coordinate certain areas
without Ops leadership.
(C) conceal news avoiding distraction
till mission completion.
- (D) handover reins to accomplished
deputy for family priority.
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When investigat_ing' rape forensic
evidence from victim, you should :

(A) transfer to experienced Woman
Inspector without direct
' involvement. B,
(B) ;)Ig'sonally interview the victim in
plain clothes to build trust.

(C). focus on Medical test ruthlessly

i i t.
without any women police presen
(D) complete documentation  along
" with FIR using pseudo-name.
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As a police officer, transgender cz;?lzeilg)sl

report facing harassment and dign A

violations during law  enforcemen

interactions. You should : .

(A) take complaint and forward it t0.
Human Rights Commission.

(B) implement mass 'sen51tlzat10n
drives on appropriate conduct.

(C) enforce strict disciplinary actions
against offenders.

(D) depute gender-rights community
volunteers for engagements.
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s a police officer, you notice ?

rel_lglous minoritiesy bei?ltéce zertgm

neighbourhood entry. Yoy should ; e

(A) Ie]?.forc.e  diversity . py i)osting
mority communj ' '

(B) refer complaints‘tot-ysto gen

; welfare schemes,
(©) organize multi-faith. co
D) 1alogues to ease tensions.

arrest  and  prosecute
‘societies flouting laws,
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As a police officer, you are assigned to a
police station in a district. Which of the
following is the name of the officer who
is in-charge of the police station ?

(A) Deputy Inspector General 11.

(B) Circle Officer :
{C) Superintendent of Police
(D) Station House Officer
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As a police officer, what would guide
-your decision-making in enforcing laws ?
(A) Applying personal moral values

even if they conflict with
established regulations.

Balancing legal requirements with
empathy and consideration for the
situation.

Following the orders of your
superiors without questioning their
judgment.

Strict adherence to the letter of the

law, regardless of individual
circumstances.

®)
©

(D)

S 7) B T R N
o wecWed T
(A), W&

(C) =i

Find suitable alternative in
question mark (D).
Mother:Child::Cloud:?
(A) Weather (B) Loud
(C) Rain (D) Shine

(B) ¥
(D) IHh

place of

& e ARl H w9, $o i

f fearer oo w2l  Hfgenai % AN W

e =maTer 3 FEwl 1 Seeie P ¢ |

HATYh

(A) IeETfeleh TE! <l WERAT 1 W
TR g T [ T A€ R
HaeTefiet ST =R | |

(B) TETerd! Huell Sl TR WA 8L
-t <. Reeres wraite &9 8
R T R TR 3 =R |

©) Bl v 3w R & s =l |

(D) AR smawes & @ R wgl @
mﬁiwmmﬁm%q_l

As a police officer, certain religious

customs  violate  Supreme Court

directions on entry of women in places
of worship. You should ; _

(A) sensitize opinion leaders leveraging
spiritual heads’ assistance.

(B) publicly threaten charges against

customs upholding court rulings.

avoid the situation by taking
leaves.

©

D)

enforce directions by removing
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Choose the correct alternative from given ¥t s 3T 8, al
ones that will complete the series : . gred 3R e e & wed e c S o
2.3,15.9,79.6, 423, 2574, (7) syl 1 e S P
(A) « 18067 (B) 8432 T 9 a}aﬁm‘ﬂ@)ﬁaﬁ%
(©) 10300 (D) 5632 . IRA IR 2%
13. w ffv P MADRAS AL”, position of
- NF PR T # “MADRAS" #I If in the word “SPIRITU‘.A‘L. 2 ed
“OWNHEQ” feran wmam & | 3t TR second and fifth letter is interchanged,

similarly position of fqurth and Slth
letter is interchanged with seventh an
ninth letters respectively, then how many

“SUNDAY?” be written in that same code ? pair of letters in the new word have as
(A) UWZYWR (B). UWZRYW many letters between them (either

WYR forward or backward) as.they have in the . - |l
RITHeE (D) WUZRYX English alphabet series ? ;

"14.}wm3ﬁtﬁ7ﬁrﬁa'am%,ﬁ:{agm=ﬁ (é\) g g;; ;
3% AR gear ¢ o 3 fEft s @ | = e e o el
o & oft o o gt @ R 7 FRR (17, o we QU (noon) % W I 6t R

“SUNDAY” =t & ferat sma 7

In a certain code language “MADRAS”
is written as “OWNHEQ”. How will

T WG 8 | 379 97 3T W fig & 2 | 4 5 10 fire W, B2 Y g8 g oy
- Frafamdg e e T
gwé (A) ufem (B T A clock is started at noon. By 10 minutes
] (C) T (D) X past 4, the hour hand has turned through

Shyam travels 7 km North, then he turns A) 135 (B) 125°

to his right and walks 3 km. He again (G 130° (D) 120° ’

turns to his right and moves 7 km N

forward. Now in which direction is he [18. TN H 5&7 T/ i uedt ? | W, T 7

from his starting»point 2 : e 8 | 19 & foan TR 2 e, .
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(A) deeE - (B) 39 Suresh’s sister is the wife of Ram. Ram

© Iefted (D) I is Rani’s brother. Ram’s father is .

In the following question, some words Madhu.r. Sheetal is Ram’s grandmother.

are given. They have some common _Rema is Sheetal’s daughter-in-law. Rohit -

features except the odd one. You are is Rani’s brother’s son. How is Rohit

required to find odd one out. related to Suresh ?

(A) Ravage  (B) Distress (A) Nephew | (B) Son

(C) Harass . (D) - Annoy | (C) Brother (D) Brother-in-law
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O fraon e s s A wed TfFg 7 |
(‘A)'_ ®) O O ‘There is a cuboid whose dimensions are |
4 x 3 x 3 cm. The opposite faces of i
@ . dimensions 4 x 3 are coloured yellow, -
©) O (D) @ The opposite faces of other dimensions

4 x 3 are coloured red. The opposite
+ 24~ %° faces of dimensions 3 x 3 are coloured

20. TEAR:120+3+8x3-40=7 ~ green. Now the cuboid is, cut into smal

~Solve: 120+3+8x3-40=2 cubes of side 1 cm. How many - smal
cubes have three faces coloured ?
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Study the following figure and answer . - ‘
the question given below. e W ELN —‘ﬂ SN hich TR A
WMI:I—’ - FHAT R | T8 T3 G |
R\ Trained nurses In the following question, a word ha
AN O—> feranfea s / been given, followed by four other |
Married population words, one of which can be formed using |
—> FEAE A Y / the letters of the given word. Find th |
‘ Nurses in hospital word. , '
& 7 éwmm 27 MEASUREMENT N
(A) Terenfea wfiféra = ~(A) MANTLE (B) SUMMIT
@) hEfauifad . (G) RETUNES (D) ASSURE
C) 3reuard 4 _ : L s o
() =@ ﬁﬁaﬁﬂﬁ 24, i i PR @ 173 shead § 19
(D) “_'9"%’ H W R, 9 39 dfd F sefigard H 3T
What is represented by the number 7 ? @& fora 27 .
(A) Mam'ed-trained nurses In a row Mihir is 17" from the left and
(B) Unmarried trained nurses ' 19% from the right, then what is the otal R
(C) Married nurses in the hospital number of candidates in that row ?
(D) Trained nurses (A) 36 - (B) 31

€ 35 (D) 29
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A scientist is trying to recall the access
code to a secure laboratory. He

remembers the following details :

¢ EE ' €)) | The code starts with the digit 5.
1 ‘ L] ’
o

The code ends with 987.

(3) The second digit is the sum of the
first digit and 3.

(4) The third digit is half of the second
digit, :

Now, considering these conditions, the

scientist has narrowed down four

potential access codes for the laboratory.

Find the suitable one. |
A) 548987 (B) 584987
(©) 563987 © (D) 542987
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(A) 13RI HT e L € |

(B) reret Foreehed 11 TRV AT & |

(C) 13 IIHT STTHWT L ¢ |

(D) Faet frepd | STHETT HETE |

In the question below two statements

followed by three conclusions numbered

I, II and IIl are given. You have to

assume everything in the statements to

be true, then consider the - three

conclusions together and decide which of

them logically follows beyond a

reasonable doubt from the information

given in the statements. '

Statements :

I.  Water has no shape, has volume.

II. The knowledge is like water,
flowed from one side to other.

Conclusions : - '

I.  The knowledge is interdisciplinary.
II.  The knowledge is bound within a
specific area. ‘

III. The knowledge influences the core

of mental activity directly.
(A) BothIand III follow.
(B) Only conclusion II follows.
(C) BothI and II follow.
(D) Only conclusion I follows.
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“World Book Day” is celebrated on -
which of the a:%:% W_ﬂmﬁwwsﬂw B) fem, srem
mw z mﬂ_n (D) 23 April (C) YR, fem
& Peffmidfmrasge s | O T, o
TR @ we Yt TR R Y & W National Aluminium Company Limiteg
el Rt g€ oft Rl Fer wa1 T AZ.»F.OOV is having its registered office
37 at which of the following places ?
(A) " (B) e (A) W&?:.., Chhattisgarh
© femmarel o . (D) T (B) Digboi, Assam .
The parts of which of the following (C)  Bhubaneshwar, Odisha
states had evolved a local system of (D) Noonmati, Assam
mmnw_a ﬂ:mmzon nw:nn_ kulhs over four
undred years ago ;
&) Kewla 49. T WA §Te (WHO) #1 e
me %aawx? s Frafefga 4 A fre e R 7
imachal Prades :
(D) Gujarat (A) 3, |
. . B) i, feagmete
46, W H T WIS % fru wete ve w ( "
M (C) 3w, afcam
(A) S qebiteh! frgaren (D) TR, Hiewets
(B) WERRTR 3 U JYH, WA The headquarters of World Health
(C) IU-WERRTRR Organisation (WHO) is located at which
(D) ST AR of the .;o:.os.w:m places ?
What is the highest post for Census (A) Paris, France
Organisation in India ? (B) Geneva, Switzerland
MWW Wn Ho%:aommc.:oﬁ_oﬁ = B (C) Brussels, Belgium
gistrar  Genera
r Crimissiher, Tk €nsus (D) Amsterdam, Netherlands
) Deputy Registrar General Tt ;
(D) Census Officer : 30 & .%. u_.mﬂ w8 m.am
41, “parevay Frefafes ¥ 3 fee o S SPe 3 o ) et
AmRm i ¢ ek &
(A) R (A) TRftE ~(®) s farm
By wmfy (C) 3hufxasfiem (D) wdwm
(C) werfa e The increase in the proportion population
(D) HeEw of a country who live in urban areas i
Kumarasambhavam” is the literary known as which of the following ?
%%ww WM ,ﬁr%: of the following writers 7 (A) Rustication
aha
(B) mrpnﬁa.—s (B) Unplanned Development
(C) Mahakavi Kalidasa (C) Colonisation
3 (D) ﬂarww,. _ N (D) Urbanisation iy
¢ H_Hﬂlu NLNTIOFE O Hc ? va Vi Vi o pIET

A

) e #
51 3o fora sl Preife 3 4 fem |55, mg Frerifad nggﬂw ?
& & ferg sl @ 7 : i s & T
(&) =TT i & =i A) ¥ERTE  (B) %%ﬂs_
B) for (© vrEmmE (D) WEREE
©) =T Mathura is the .cirv_mm.o _o fiowE
(D) e 8 among the following that 1s also
Bhadohi that is located in Uttar Pradesh is Brij Bhoomi ? .
famous for which of the following art ? MMV Ehoa Rama (B) Lord Krishna
A) Glazed pott Shiva
®) Chankan (C) Lord Ganesha (D) Lord Shi
(C) Saree weaving SRt 1 THE Pretiaa 3 @ frw e
(D) Carpet weaving 36. it @dmw z .
52. frafofea # @ W @ s Wy = T @) @ (B) THR
WY (©) @ (D) fawgu
(a) == (B) =TT Akbar’s mausoleum is located at which
s (C) (D) IS of the following places ?
+J&: Which of the following is the state tree (A) Etah (B) Rampur
“ of Uttar Pradesh ? ‘kand
(A) ‘Bamboo (B) Banyan (C) Unnao (D) Sikandara
€ Oak (D) wﬁ:&.s 57. Prafafea § & 3 Ry F1 B9 |1 wRig
53. g et g svemed @ e amafen % 8 UF 3R TEs A @ % R
3R 317 32 &l | i el s off ama quwmqwﬂ
W“Mmmﬁaww%mwwwﬂ?@m A) wl ®) T
w ;
. C LIS D) =&an
(A) dem FMAR (B) ﬂm_m mzwwomﬂw_so:m the m%_svim:m well-known
(© D) folk dance of Uttar Pradesh is performed
Surha Taal is the famous sanctuary that during paddy and maize culti w :
also receives many migratory birds from (A m_% o S R i ¥
Siberia and other colder regions, is ) Kay (B) Rasiya
located at which of the following (©) HurkaBaul (D) Charkula
districts of Uttar Pradesh ? @ fie Pvafn ;
(A) SantKabir Nagar o Wﬂ ) Aalhil ufeq
(B) Etah weA HigA e 3 Preafifee § & Regds
(C) Gonda wEEm A ot 7
(D) Ballia (A) sl ol ¥
54, Preffem # ¥ BF @ dww A | B) TRAMER
oz e e o At wemn s | (©) B e
o el 3w R 7 (D) HER TeeTHTs Wt
(A) @mwmu (B) T w&ﬁ.& Hindu University was founded by
©€) =™ (D) mﬂmﬁ Pandit Zmamb Mohan Malaviya with
Which of the following social media cooperation of whom among the following ?
platforms is best suited for professional (A) Dr. Annie Besant
:ogo_.fnm mm.a job hunting ? (B) Rabindranath Tagore
(A) Linkedin Am_uv Snapchat (C) Madam Bhikaiji Cama
(©) Instagram (D) Facebook (D) Sardar Vallabhbhai Patel
3” PPTTCEVe SONVIRLNTIVR PO PATLNTHT & Hu. J TP IRTATY A NN PTRLATITX 0 ey
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60. Faw iy dame R wm %

59. qHTECETF (UPSSF) FT R 419 7T |
(A) IR ¥ wiver 6 wrd
(B) I ¥ gifers it wid

Give full form of UPSSF.
(A) Uttar Pradesh Social Source Force

(B) Uttar Pradesh Solid Security Force
(C)  Uttar Pradesh Social Security Force
(D) Uttar Pradesh Special Security Force

Fretferfea 3 @ fiv 759 o v vmer 7
(A) &9 (B) e
(C) T ™ (D) IWIH

Nivesh Mitra Mobile application is an
initiative of which of the following states
of India ?

(A) Assam

(B) Telangana
(©) Gujarat

(D) Uttar Pradesh

6L mﬁﬁsﬂmﬂ@@dm@gﬂwﬁ
AT AT R 7
(A) HieEd (B) i mg1 7
(©) Fuem (D) T

62,

Demonetisation is also known by which
of the following names ?

(A) Note Ban (B) No Currency
(C) Cashless (D) Zméh:ﬁn:nw
I W T Hfee, 2006 & FER TH
Iy 7 T Uz, Fe79Y 77 3T & dgd
m&mwaw @3 &1 fiefafas § ERIE |
ST ?

(A) wiferg (Consolidated)

(B) I (Grove Land)

(©) TR (Agricultura] Land)

(D) 4fd (Holding)

A parcel of land held under one tenure or
one lease, éngagement or

(A) Consolidated
(B)  Grove Land
(C)  Agricultura] Land

63.

64.

65S.

information such as username
and credit card details etc, for maljej
reasons, by posing as , ﬂémgm_og
mow:nm In e-mail is called a5 by
A Sourcing (B) Cheatip

(C©) Losing (D) E:wznmm :

..mﬁzwn@@mﬁﬁmﬂ%@?
A) wls . (@) o
(C) shemes (D) sfy

“Taka” is the currency of which

. of the
following countries ? ,

(A) Thailand (B)  Turkey
(C©) Bangladesh (D) Serbia
wﬂﬁﬁmmwﬂuﬂﬂﬁ%ﬁ%w?
EEE :

(A) %ﬂ%ﬂﬂmﬁawﬁm&ﬁm
T =T 1T R ufmar |
(B) Sl w7qe dow hfve 1 g §

U H W ¥ qY @ QR
TGl 3R Fared i o A
ITET SR Tt § |
(C)  Sfiuadt weh Tieea-ameid w2 |
(D) Fgait 3t Famait @ e AR F R
T ST § |

Which of the following sentences is not
correct for GST ? v
(A) GST is a common law s
procedure throughout the cou
under single administration. i
GST is a comprehensive levy o
collection on both goods qith
services at the same B:w_. hipe
benefit of input tax cre

.. subtraction of value. T,
AOW GST is a destination-base fax o1

®)

i (D) There are multiple levies of
12 Holding goods and services. e
ﬂ.ﬂ—fwg‘_i PO PR gy PECLNTUVR PO Tz By PO POV P (BN POREHNTTF R ON PSOLNTEPR NPT TR RN POV TUVA QAN PITEN TR ‘

12

e

66.

67.

68.

69.

(B)  STeteet Y2w v

(©€) wRrE sermg

(D) HHfmsf seumg

Which of the followiny ports is located
in Kuchchh, Gujarat ?

(A) Kandla Port (Deendayal Port)

(B) The Jawaharlal Nehru Port

© Paradwip Port

(D) Mormugao Port

@m%m%%mﬂawmﬂ@@mmw
5 2w w Y FlATRRT St
ﬁwﬁﬂﬁﬁsﬁoomcww@ﬂ%
AR Tt R 2

(B) wTEE

(A) g
©€) wagR (D) e
Recently, Shri Amit Shah has laid the
foundation-stone of the headquarters of
National Cooperative Dairy Federation
of India (NCDFI) at which of the
following places ?

(A) Anand (B) Bengaluru
(©) Jaipur (D) Gandhinagar
frfofaa § 9 o @ yerm weeid st
Y IURSH FAHE B T ¥y sk
st s e 7t 3 fore e ek 2
fasmg ¢

(A) TR T T GEER
(B) ©IEE SR

(©) 3T THR

(D) ST qresm .
Which of the following awards is given
to motivate Cooperative and Milk
producer Companies to grow and to
instill competitive spirit ?

(A) National Gopal Ratna Award
(B) Dhyanchand Award

(C) Arjuna Award

(D) Dronacharya Award

70.

Tiferefteten gasa AR A @ ?

(B) Hierant
(C) geel (D) uret

i CE]l

Union Cabinet has recel

M%MSE% the Migration and ?“.wwm
Agreement between India and w

the following countries ?

(A) <t

B) Sri Lanka

@ fommany (B Nao

T, IR AT6AT 1 B AH o
Mﬁﬂ Fra Fefieaa 4 & fa <
WIER?
(A) e, sfeimt
(B) 3@ el 1 Sigwmg, 7,0 E.
(C) A=, "

(D) HIRER! SeUTTE, SHee
Recently, Indian Navy’s Fast Att
Craft INS Kabra has arrived at which
the followin places ?

A) Colombo, Sri Lanka

B) Port of Jebel Ali, UALE.

C) Male, Maldives

D) Matarbari Port, Bangladesh

U o R —

&GS 47 ?
(A) TN I=ga TEER @H
(B) HieMI 3Tee
(C) wcEdm du=sh
(D) =g sref
Who among the following was 1
founder of the Khudaj Khidmatgars ?
A) Khan Abdul Gaffar Khan
B) Maulana Azad
C) Badruddin Tyabji
D) Mohammad AJj Jinnah

72, wﬂ@@mm@gmﬂ%_m%

TEHT (O g s TS
TR (KLI-SOFC) %1 3qumea fram 2
(A) Rz (p) ot wrfira wre
(C) . . wavE (D) A g 0@

Who among  the following |
Inaugurated ochi-Lakshadweep Isla;

Submarine Optical Fiber Connect
TmOmQ recently ?
A)  Shri Rajnath Singh
B)  Shri Amit Shah
C) Dr.S. Jaishankar
Shri Narendra Modi

~
FONPITLATIV SO BNOLATIV L SENACTIA TV PO PONTNTI T P 0N PORTNTI & o, PTATIVR O e amrva s PERATTR 2 ey
‘. ATSVE » - Le
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A
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13.

74.

75.

76.

71.

78.

79.

80.

81.

frafefaa & @ e fReer & oft 7=
T E ?

(A) T=R, T (B) T, @WUHR
(C) wem,fiem (D) S, 9%
‘afe’ IR wofie wee frafefeg § @
fra e & wataart € 7

(A) 39=H (B) Sy

(C) =M (D) wud

ASELERE R EE AT R s
form o v Frefofaa g ¢
(A) WA (B) ==

(€) I (D) ‘e

T fomea § wreg gt -l o wdt
Fe-Ag R 7

(A) THd-¥Hd = TF AN - Fud
(B) YR - MR = =ie - R|

(C) =1 - i ={1-9|

D) fw-fm =wm-wm

Frafafgada fra e iggam ¢

(A) g AR ¥ Sa1 3 ylen @ R |

(B) TH W uge fire # |
(C) < -gae! I IR H1 AT R |
(D) TS AT ! TH IBA § |

Frerfertaa # & gfewin wisg 1 w9 HIR :
(A) Tt (B) Hfge
(C) 3IEA (D) fa@r

frfafaa @ @ fem wog &1 %@ ThawA
AE@R? |
(B) &

(A) 9
(C©) M (D) TEIER

B WAt | g U | YWifhd W § B |
FRHE 7 v "

(A) WEEAFE (B) WIGH HRE
(C) FHE (D) FHAFIH

fofafgad @ aa rg s AT ¢
(A) &g

(B) dm

82,

83.

84,

85.

86.

87.

88. °

SR’ vree § S A1 39 R ?
(A) (B) A
(C) = (D)

T TR A I EE R ?
(A) TqEy g

(B) dguwH

(C) =iy gHE

(D) feqwmm

i}, FE B Y T FH IR E 7

(A) FyETaTas FdA™

(B) TrazamEs gdm

(C) waTSS |

(D) fEs g Tm

) ' = ¥ dh-Redr @ S
$Hif

(A) W+ (B) wfex+ 3merm

(C) wiew+3re@ (D) wfew + aned™
Mmﬂs?d&%?mﬂn@%ﬂﬂi
?

@) Pt ®) dvwfer
C) #rwfoEs (D) g

waey W o Reg wwr % HEIES M f

g
"

R w2 7

(A) TEETES fdwn

(B) wq=EI fodym

(€) st fagyo

D) mamﬂmwmqmﬁmqmw@mm*wmﬂﬂz

(A) Somis fin (p) .,_Hﬁmw,xﬁ

© Wl ) g

.mﬂmmﬂmw_mmmmﬂmmnm#mﬁqw ?
(A) amge

R P S T R R ——

90.

91.

92.

: _ 93.

T T

95.

96.

B A

98.
;g |

‘T 3t QIO |’ 39 a1 § 6 91 9
BT ? :

(A) THIARET B) Fgar=

(C) wEaT=A (D) UaT=A

“foret =1 AT SAFT HETa 1 31 STy ;
(A) HTHT AT G-I FHEA
(B) T ST

(C) ST HTAT

(D) 3% HW H
Gy’ 1 T weg

(A) T=A (B) =

(C) I (D) TI&

‘GO T, T GHE A I TehITR H1 3
fraffaadd s @R ?

(A) Qﬂﬂ%ﬂnﬂfuﬂa :

(B) eI @ BT

(C) W TgI AR A

(D) & wiam g

i e wH e wE g ?

A) @ (B) WFH W
©€) Tw (D) dwwE .
Tiear % fedr i wgd =rw 8 fopert Ammd
B2 ?

(A) 16 B 1

© 13 (D) 10

Pt & fra s § G 0 5
B e R 7

(A) T (®) I

(©) 3 (D) W™ &
Rrffaa 3§ 4 “amr g HT FAHET TR
fora frpeq d T8I R 7

(A) T (B) =™

(C) e (D) WFHT -

g8 TR 1 G & | T A B

(A) HTE YT /o ST

100.

wn@@mﬂaﬁaﬁ@ﬂu%
T AR (7. 9. 99-103)
T WA Fie-TTE <Al gL

w.ﬂ@w_wﬂwﬂﬂzﬂnﬂé

Faat it AR SEeh! @ B
w%ﬁﬁ%@ﬁwﬂﬂ.%
%%%ﬂ%@dﬂ%gw
e @ wEifE @ wh 3w
%mﬂwgﬂam@@m%&nﬂm”
Fow @ & & R gEl WA
aurRiya fiftra wgeE & g 9
qedt | g quThia 3= fiféra TagE
5O UG =Ed &, 34 A A € g T
R, Tef 7 5 Iuehl Hiar A IT=TE
&1 qon o S h FHler AR I3
TeER & guTE B I @ 3 IW Tg S
# 3oo1 & T o fF TR A ' R
T 1 UG & IS THINE ITITH 3
FEifrE AT ARE |

YR e 6 fherd @ue & F9ife
(A) ITH el B F& B ANNS T
I T A | _

(B) 2 37O 9T F WIfE ) IgI a7

HHTS! 1 STA-<Te 8l 9H dehd |
(C) 2 g = W i uras <
g €l umd |
(D) 3 3 vy 3 for@ 7 vl |
Suge ¥fiden i -
(A) WA TEehi hi gear

T (®) vt Rrfiedt 6 g
O S (©) v frfirdt a aisf-sig
(D) THEEE - (D) WA hi a1
. ’ . AN PITLHOTK 5 g Hm SRNPERLATIVR VA wmmm




101. ¥ 1 givfem O I 9 gife e

AR AR ?
(A) Y (B) I
(€ (D) &

102. E%zéumy%w%_%w
S at 3 Fver I AR 7
() T (8) gl
(C) 3 9% D) =

103, wrdtg Wi % @ arifeh, FdE
g%,ﬁ_%ww@%w&%ﬂw,
wife-
(A) ﬁ&%ﬁﬁﬁ%%ﬂ%

7 % | ;

(B) AR AT E N
(©) ﬂw%%ﬁﬂmmqﬁﬁﬂgﬂ_
D) it T % TR e A R

104] o e s off 7
(A) FATHEE  (B) FAIIH
(C) ™ (D) e

105. wﬂ?@mm@%%ﬁﬂq@&mﬁw
geuTEdi @ ?

(A) I (B) Wl
(C) 9= (D) TSl

106, frefafga & ¥ HE Y THR HI
fifoaras RRATRRET 2 7
(a) fiwa=s  (B) ErEpEivED
(C) wEHETEH (D) ffeus

(A) T (B) Tl 5
(©) T (D) ¥d below 10 years of age. The EEEoNn oL
108. ‘FEAY Mm_.mn..?ﬂ&ﬂ = H O students above 10 years of age 1S
i PR A A B R 7 3
(A) - (B) AT - e the number of students of 10 years .mmw “
AOV qled —- dﬂﬂu— AUV e - IH which is 48. What is the wOnm— 5%.@0». o ;
: i . students in the school ?
109. ‘G S %mﬁ%_m% & i & fe o (A) 110 (B)90 (C) 100 @) 80 o
i _@ - 116. @ wEm A 119 & o F T 2
Mow FAfre (D) TR %ﬂ%%%:wﬂﬁwﬂﬁﬂ
. 1 AN = ? ,
110, “TEEC fae A &1 GHe 8 ? A number when divided by 119 _nm%om
(A) THEEYR  (B) iz 3R 19 as remainder. If it 1s divided by 17
T ez will leave a remainder -
Aﬁuv Acv N T AN Mnmw;vﬁqm o :qéw w»beﬂjﬁt%m{vr erec&u? %mw.vﬁn)tmﬂﬂiﬁw

A PIUEH AIVA PO PINT ATV R AL DI NTV A AN MIATIVE SN PIUEATIVL FANPINE

FK-3

1728 +x

111, TE@HR: ———— =2
3.6x0.2
e 1728 +x
Simplify: ———— =2
P 3.6x0.2

112, Tr=faRea geftetor § wwAfEA () S @R

16

(A) 15 (B)12 (C)14 (D) 10

QT T AT 7
What will replace the question
in the mo:oém,m e cmz%: ? mare
5072.19 + 368.312 + (?) =9018.618
ME 3578.116 Mww 3578.112
C) 3571.115 D) 3571.116

113. @ FEand 13 : 9 I A § | A I

HCEF 13 2, < st @ 7w i |

Two numbers are in the ratio of 13 : 9/'If
their HCF is 13, then find the largest number, *
(A) 143 (B) 169 (C) 117 (D) 52,

114, e S AEA B AT 2:3 % #R
af e & A § T 2,000 1 5 T B
&gﬂ%ho”mq%%w | A H
THA A TR ?

Salaries of Rohan and Soham are in the
ratio 2 : 3. If the salary of each is increased
by X 2,000, the new ratio becomes 40 : 51.
What is Soham’s present salary ?

(A) ¥34,000 (B) 20,000

(C) 25,500 (D) ¥ 17,000

115. Frdi =g d, 20% S 10 T A FH I H |
10 8 & 7R 31T % BRI ! FE 10T H |

ﬂ@%%%n@,%@@w,ﬂwvw_,“

e i o e e P 2

In a certain school, 20% of students a1¢ -

&.‘

%)

117. TH R TR W W 3 A WR

118.

110

A

éﬁ\
W9 120.

% 4,460 31 6 9 =G T 6,690 & WA & |
g et s Hif |

A sum of money amounts to I 4,460
after 3 years and to X 6,690 after 6 years
on compound interest. Find the
approximate sum.

(A) T2,991.66 (B) %3,121.66

(©) ¥3,11533 (D) 297333

, i @R P, Q ¥R R T S IF
w1 P A R AT, QR TN H
%uﬂwﬁﬂw%o%w@,w%
ot % =R F TR 2 | o % 37 A

727,500 F pATM A AR F TR
Three partners P, Q and R start a
business. Twice P’s capital is equal to
thrice Q’s capital and Q’s capital is equal
to four times R’s capital. Out of total
profit of ¥ 27,500 at the end of the year,
R’s share is :

(A) ¥15,000 (B) ¥2,500
(C) ¥5,000 (D) ¥7,000
g gEmai w e 3,75 3 | STHAQH
Sad 3.2 2, Fafs 39 Q F1 3Ed 3.55
2 | 99 & Gl = e R ?

' The average of six numbers is 3.75. The
_average of two of them is 3.2, while the
average of other two is 3.55. What is the
average of the remaining two numbers ?
(A) 4.6
(C) 4.5

ﬂmm&@w@mﬁi,ﬂwﬁiw_
ﬁ%ﬁﬁiﬁﬁﬂ@%ag

£ o 2 & | T A R
A T | :

An article is sold at a certain price. By

2

selling it at — of that price one loses

; 3

10%. Find the gain percent at original
price.

(A) 38% B) 30%

(C) 35% (D) 25%

121, TTFE 26, 20, 14, By o

122. FEHR

123. TS ASHI

124,

PR

26 217
w1 2131 T

i |
Emm the 21% term of the sequence 2¢
14, 8, eeree :
(A) 88

() -100

fer %1 Gea 13.86 oA
4 u.muﬂﬁm%ﬁ@ﬂ%mﬂﬂ
e s BT | (1 3T = 10,000
The area of circular field is
hectares. Find the cost of fencing it :
rate of T 3.2 per metre.

(1 hectare = 10,000 m?2)

(A) ¥6,132 ®B) X 5,138
(C) ¥5,808 (D) 4,224

g1 9 e/ 1 q 25
e T o R e 3 =T 3R
# fepeT T T ? 220
How long will a boy take to run ro
square field of side 25 metres, if he
at the rate of 9 km/hr ?

(A) 48 ¥F/sec. (B) 40 THS/s
© 4 Yae/sec. (D) 38 AHE/s

hﬂﬂﬂnwﬂﬂmﬂ%ﬂmﬂ%ﬁ 1
F o T & AGR6 6 TSH I 4 A
sheme s fRA AT THaE 1 4
3it 2 wrefmat 38 Hm 1 fHaa fe
g tc

4 boys and 6 girls can do a piece MM

in 10 days while 6 boys and 4 g
do the same work in 8 days. In
many days can 4 boys and 2 girls
work ?

(a) 30 ®) 27/2
() 28 (D) 25/2

SN P A TV S WL TR RN AREA TIPS s

-94
146

®)
(D)

AR PN CITE AN PSTLATIVL AN PILHNTIT FEh TR TIVA

A

17
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. c ST ITH ©
. : i afy Fe = e T # T HAA
7, 9. 1259 129 : W% 1 greae 130, T2 73 @mﬁamm uﬁﬂ@@. %m&ﬂ%ﬂw% ]h_. ] 1 A W R 4 T e g | 141 Mﬂmﬂm [V sFHifRd ST T m:wm
3 T IR T 6 IR | it 8, 34 e o T Y Y T S T R 7 plit mﬂmﬂﬂ.@ﬂ@mﬂuﬂ\
Q. Nos. 125 to 129 : Study the bar graph gd mﬂw 1z w. A mjm& < HE Which one set of letters when az 30 29 .ﬂ\.@ ‘&t
d answer the questions based on it. 3R St geTEid 2 sequentially placed at the gaps in the T T 2/ R
and a - p———— L) Ll Y mﬂ ¢ given letter series shall noE_qun it? o+ 2 \.m 3R TgER g+ +
..a._mH. of Mobile w.m.we.._:....,__._ Lakhs) over the years In the given figure if Triangle represents Snd™an yidmas. gnd man S A |
~F0—— e healthy people, Rectangle represents old Mww1 nm mﬂmams Mww mﬁwmmmw m_m,lan_..mg 3 nﬂm__ 1 oft gurfed &
Fiw d Circle represents men, then C) mnadmna ‘ YA
1 persons an P N 7
mm “ what is the number of those men who are - . 135. fu dﬂmwm_,ﬂw.ww:w__ o w8 Ry 93 A oo icaul mﬂﬂz%
£ w0 ? ; -
mm - healthy but not old ? x=% 5 meomo:mm Mw.,_w correct alternative from Th : | sga wd # sparern @ g2
- ) E iven ones that will complete the series. 1. @l
= "Tonr 2002 2003 2004 2005 2006 2007 2008 || g 68 ﬁ Tt | i
. w4/ Yeans ac 8, Mmmmm.vmwwnw. AO,VAM.WM D) 78 —
L L A) 87 71z 34 e :
125. 2005 %A. 2006 F siga I 4 _ wm 4 b 56 M,.nv"nﬁ" M~ 1. MH _su_ﬂ N N Lk
frafafaa § @ feg a6 & 1 & e 3 NLAL L S (A) MM (B) :mﬂ@m TR EE | e e |
e ¥ FeeTpe TR AT 7 , ) 0 O W L A
The average production of 2005 and A8 @BS ©o6 (D3 ;o J0+ mx\wou “%MMOW_ : Rabbit w3 ot . o ] AT BT | TH 3
2006 was exactly equal to the average |y39 of o o aref wmm B, <+ %1 3 TR, 55 Burrow MU Hole Fa FEig AE FATAMEC |
; hich of the following |13~ o ¢ ! .
produchion of which OF. fbe Suning wwmsdmeE o B AER M 175 137 BEMN:CONO::GIIL i) W 1v. & | 99 37 o & F FOR
ww_vawo%uw@m%woﬁ - 63x24+8+4+2-3=7 : | \\\N\.\a me HU MUW DUQN T, @ g T T
3k 5 \10r0.A\/\\ If “+* stands for division, ‘+’ stands for 138 Wﬂ%ﬁ%w%@dﬂm ? (A) Fee 11 SR g1
(B) 2004 3N/ and 200 il multiplication, ‘x’ stands for subtraction y .Ln 0 43 " How many iriangles are there in the (B) et 1 37 11 AT & |
(C) 2004 3T/ and 2006 mﬂ,w s ¥ and ‘- stands for EEEEW then cartrail following figure ? 0|75 8! _Am (C) et 1 3T I 7o & |
N A s —-3=7 i
(D) 2006 3 / and 2007 vaxmer mm%& > Aouv 61 (D) 58 - 9 L to (D) HEEIRIER | .
126. 2001 Y ger 3 2008 H % 3 (&, 8-3F Question given below consists |
mﬂwnﬁmn?mamﬂﬁ._ off ? 132, =R fawedi § & & uﬁmqm_ (X) 1 Fd ¢+l statement, followed by four argun
: k . ’ : _ B Je 12 (D)8 numbered I, II, III and IV. You ha
What was the approximate percentage s | (A) 14 (B)10 (O ) 1 :
i i duction of mobile in Nomm _ 9 Ferht = ?, R decide which of the argument(s)
Sﬂammwnﬁ% %wn: m: 2001 ? Choose the correct mirror image of the ¢ 139. T =fa S R A 9 3 N ‘strong’ argument(s) and which |
(A) © 200% (B) 183.33% given figure (X) from amongst the four : et 1R g & 3l 4 ol e e, ‘weak’ argument(s) and accord
c) 195% (D) 166.67% alternatives. Gt rff 3R e & 3 10 ot <o g, T choose your answer from the altern:
©) o o o ¥t 3R Jear & 3 4 flft =er 2 given below the question : .
few e =91 & 3fed mﬁﬂuw%ﬁ ? mu J m ﬂ. J A TEREE Ve in uo:rﬂmnnmmon by ooEvEmiNm:o: in all pos
In how many of the given years was the : i 9 wwa then turns left and moves by 4 km, . sectors ?
productinn of mabiles mime thau fuc X) ) @ G 0 e apain turns left and moves by 10 _km, Arguments: )
average production of the given wnwﬁm ? (A) 4 B2 (© 3 (D) 1 > ) wm&: B h mm,a Bo<.nn.m _w< Amwmwrmwoi I Mn.w m,pnmmz&h:ﬁr wﬁ%ﬂﬂﬁgg
q ) ¢ . o i nifial po: .
(A)4 (B2 m%mu AW ) F 133 W@ ¥ s g4 W = F o dey Eal 4 mwuﬁra_mﬂw&ﬁ H_M H%snmmv 4 B4 km II.  No. It will be an injustice t
128, fopw =l & former Sl ) St T ) g o WHAE o ( 1 £/ km monumental  human  reso
umﬁ_.m.nmﬁ stfasram ot ? . afEm, 9= : O © 9 feei/9 _Qs D . which are at present underutil;
In which year was the percentage ’ ) . . : 140, Frerferfaa e 3 o W fon T R, 1. No. Computerization demand:
i i u‘_noaznao: as compared to Choose the Venn diagram which best T7e =T v R e ¥, R A T R g of money. We should not -
ﬂnnnmmn.. i p rrippe e e explains relationship among given : 1) ¥ e = SN 0 T ST money on it.
M %v?mw_%%w ye s : Husband, Family, Wife . v 35 3 ol | IV. Yes. When advanced countri
(€) 2005 (D) 2002 @ O i T the followin petion, ge word is mm%ﬁ@ﬂ%ﬁmﬁﬁ« oﬁ_ :
N : J 3 r words, one o Pid
129, 2003 | 2004 % WEFA H IAHA H ) (B) O O m..ﬁh Shich MM%%M« farmed using the letters A _%r_:a.
STt wferere frrree 2 off 2 of the given word. Find that word. ) Only Il and 11 are strong.
p ¢ e d MINISTRATION Only I and II are strong.
Mﬂwmﬂ.ﬁsﬁmﬁﬂw : qwmmmwwv_ng Mm.oawmﬂw m._.wmm % MINISTER (B) STATION C) Only I and III are strong.
2003 t0 2004 7 (€ O ® ] &) RaTION B MND o ) O
(A) 29% (B) 23%(C) 27% (D) 21% | e S e R ME%.%E%.,,,é...,%.éé.?éé., — v
FK-3 - ) , 18 4 A : 3




142, 2 FR T 5 & v e 3R vwk wR) | W ety : ,
YT ot w fER (AL . . .
A ¢ IR fofg 3 & 5 o @ :vw.@wﬂ_éxﬂﬂ.ﬁaﬁ 143. WIS 5@ 3 1998 F 22 W 6t 37 & 70% zm.mﬂ,ﬁ&s@@wﬁboo@msi
wrem(€) e i siafifea /3 | e o TR R, A T e, gy ! W T R | 0w | o) a1 3 aifom e 3 72% 3l % W
FYA : 27 W1 % AW 3 iR Fem a1 SERAR 4 U 55% 3% IR 99 whan & 550, 37 sefiol g3 | SE wE e ¥ 70% IH
TSR & | B, 5 bl 9?@@3%%%% ST AT | 9% 1999 3 o 3 w9 SR HTETERR & 48% 37 W< fR |
gRUTE : 1. S 27 W 9% HRET F @ FH B HA Y F 2 Tret I F A e g1 otk Rt (A) ST IR |
Ty 8, W awe sy wff wfify I 2002 ¥ e T 3 &9 4 v g | (B) af: Ifigar w9 FE T AR |
11 MM% m.,wﬁm_?m AR | . ¥ (A) TR e S, W S | (C) @ wmwen sreas, el wiuf w5 S
s Vg RANEIT s v . (B) = 3wedigamt st = Tt R e IR
o :_.,w._ ' 5 5 O e 3 (C) If wen sreaw, wdf ity ! D) af Iufigam w1 =2 e I R |
H T @ 3 ; , w3 D)
(A) Tl FRAE I mmdwmw.mw | 3k ._ SR Tl HEE TR | Vijay, a Computer Engineer, passed out
(B) YT 11 Jaffea ESEa with 72% marks in the final examination
AN b 71 %Mﬂ%@ﬂmﬁﬂw ferctom e 3 (D) fe sefieam 1w Re s 2 ) e .ma
(©) WAL 1l sififea d | Tt HIEETS T B | sy Modi Jay did MCA in 1998 with 70% | o ‘e 2ge of 22 yeurs 1 20 8
(D) & HRET Frafifed 2 | 23 * ST RERIELR Eo M%MGBM&HMM WHMMMMM ﬁmm?%ﬁ moonm and 48% marks in the Interview,
M.:__ E.m question G&o«« a statement | 3 =ft woE sy 1-10-2005 in the Selection Test ﬂwﬂogoaﬂ.mﬂmﬂ_ﬂ (A) Data inadequate.
mwmomm_ MFMM“. .oﬂwwcﬁwﬁm_ﬂﬂm%uﬁmwmod%~ Rafe Wﬂmmﬂmﬂ:ﬁw | ) (B) Ifthe candidate is not to be selected.
* c

statement and the follow

Q. Nos. 143 to 147 ; Following are the criteria

company in 1999 as programmer and got

fite: SSSEimp g o . promoted as Systems Analyst in (C) If the case is to be referred to the
: . ptions r selection of comput fessi ; : December 2002. , Chairman, Recruitment Committee.
d ; ; el puter professionals ;
@En@%%%wo%”n%n Mmﬂﬁwﬁm mﬂwmcﬂv:onﬁmv s mﬁ—mmn_mmaoﬁ . m m.w.r.m_h (A) If the case is to be referred to the (D) Ifthe candidate is to be selected.
Staterient = ! . ¢ candidate must — m.. GM, Wnnn._:anm:. T — .
- Lﬂwﬁ.mwwmﬂ_ﬂ: m.o_. 27 years [(1) be a Computer Engineer or MCA with () . Ifthe candidate is not to be selected. e m@ﬂwﬁmﬁw ESiizeiy] Auﬂ.wmww.w e m...ﬂ@“ﬁ
Rnmiiss e President. first class having minimum 65% marks © M:En e 1o be Hmoon& 1 the e i il www_wwﬂﬂ :
s ) (2) have secured at least 50° S airman, Recruitment Committee. &Th R T AT
I.  One Srm_ew:_ be imprisoned for 27 Selection Test. Bl (D) Ifthe candidate is to be selected. 55% R 60% & | T8 2001 ¥ frenm
years will become the President. (3) have secured at least 40% marks i ; : TR & &1 F FW R Q@ § | T
; s in the . s . |
L To become  the  President Interview. 144. 91 75% 3l & =y us Tl Seifem wafafer 19 3, 19808 |
imprisonment is a qualification. (4) not be less than 21 years and not more ® | IH1 T 6 IS, 1976 H1 g3 A1 |
(A) Neither I nor II is implicit.

(A) =R e S, vl B S e g |

% [ plicit. than 30 years of age as on 1-10-2005. I = Tl # 70% 3ok R FTETER (B) 3 Iufigar =1 w= & frar s

MOW M.:W_% mwmcaﬁ:o: I is implicit. In case of candidate who satisfies all other  42% 37 9T | 21

ither I or II is implicit. criteria, except : , afify
; g P ? T ST, et st e C TTIEAT 316
(D) Only assumption I is implicit. A. At (1) above, but is an Electronics me % q%ﬁﬂ:ﬂ_ o5 T %ﬁa me_q t Mﬂw [ ] i
. ; : & : Engi i 9 ‘

%8 1438 147 Rl W A | g pedemed tothe M, Reoranent ¢ o O R AT |
T % fore Frefefed wres & - B. At (2) above, but is having at least (C) af e e, wefl RIREL ?uﬁ wqo%.vmn 80% marks in B.Sc. (T)
Jafiean — 2 years’ experience of working as a MR | o o marks in Electronics

(1) =IFaH 65% 3ol & | wore St § SHegex

Teftfr T wdie g TR

&) 3 = ulign § &9 q 9 50% 3% W

fra e

(3) 3 TETHR H HH A FH 40% 3% TT= Ry

=

(4) . <1 3T 1-10-2005 F 21 T4 & HH 3R 30

i ¥ srfres 7l & =t |
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Systems Analyst, the case may be
referred to the Chairman, Recruitment
Committee. ;
In each of the following question,
information about one candidate is given.
You have to analyse it with reference to
the above criteria and condition and then
decide the appropriate course of action.
You are not to assume anything other
than the given information. All these
cases are given to you as on 1-10-2005.

IN TP AN PITLNTEFA P POV TIN L U WA TEVA AN DI A TV G0N BLH TR

(D) e Infiean =1 =3 R T R |

Sanjay is a Civil Engineer with-75%

marks. He was born on 6% July, 1976. He

scored 70% marks in the Selection Test

and 42% marks in the Interview.

(A) If the case is to be referred to the
GM, Recruitment.

(B) - Ifthe candidate is not to be selected.

(C) If the case is to be referred to the
Chairman, Recruitment Committee.

(D) Ifthe candidate is to be selected.

5

Engineering. His scores at the Selection
Test and the Interview are 55% and 60%
respectively. He has been working as
Systems Analyst since 2001. His date of
birth is 19 April, 1980.
(A) If the case is to be referred to the
GM, Recruitment,.
~ (B) Ifthe candidate is not to be selected.
(C) If the case is to be referred to the
Chairman, Recruitment Committee,
(D) Ifthe candidate is to be selected.
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148.

£ 80% 37! % ATY Th FHIL il '0'[
: e @ 55%
2 | IR TETEHR ST W .
: I XYZ
3} F1fires 37 e AT |
3 5 T & ot T e T
FwyHwm ﬁ,’m_g I
(A) I |
(B) fe IafigaR 1 = el R TR |
(C) s wmen svema, weff Wil i S
TR | ,
(D) afe sefican &1 == fR T R |
Divya is a Computer Engineer with 80%
marks. She scored more than 55% marks
in the Interview and the Selection Test.
She has worked in XYZ company as a
Systems Analyst for more than 5 years,
(A) Data inadequate. - :
(B) Ifthe candidate is not to be selected.
(C) 1If the case is to be referred to the

Chairman, Recruitment Committee.
(D) If the candidate is to be selected.

I TH I it % w9 § 3

T W A § 9 ofie wp fpan ©@

=Y & IR T R 3R g RAR

TITE AT g | 3T

(A) 3¢ T TeE Sqerey € qt oz =i
3} 1 <fea 0 &1 =t |

(B) ey grard ghftem =0 & forg
iR =t s=m =i of e
for-forer e =nfe |

(€) =@ TR I & JH Fae
THEMT TR |

(D) IS % T it ) finwar 0y
% foTT o1 1 W s =R |

You are stationed as a police officer, an

agitated crowd at a local fair accuses a
teenager of theft and attempts mob

lynching. You should :

FK--2

(A) let the mob punish the accused if

enough proof available.

(B) rescue the teenager and disperse
the mob to ensure fair trial.

(C) make the accused confess under
duress.

(D) use force to arrest the accused for

questioning.

——
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149. < sTfera g~ som H 9 T

%Wﬁ,m:

(A) ¥a % WeEw ¥ 9§ Ay
witd w6 % fou a8 = miy
HET IR |

(B) @muH < fore Frarferer srftria
Ty Taatt TR e A

(C) W HiHd Ao a1t Ief
T EE HRATS B! =R |

(D) 9 ®9 R % FATTdERR
] T 1R |

As head of police in a riot-hit mixed

religious locality, you should :

(A) engage elders to reconcile groups
through dialogue.

(B) table concerns with municipal
authorities for resolution.

(C) act tough on miscreants crossing
community lines.

(D) impose indefinite

curfew till
tensions subside.

. Y T yferd AR % w9 X W

3Rt AT w2 Fehra gt ) s

T W G w0 A A B fvawE

AR ST BT & | 3TT9ehT

(A) TsHifos REM HRiF ® wfey
TOTHT <Y, 3R T1 =h! Sfeaia w6
=g | |

(B) diewmie ¥ ¥ & fmu FEm@
TG 6t whriars we =Y |

- (C) woewiie &Et § wEww giva wetd

ST TR |
(D) T whrm = wfim &0 #
Torerric et =nfew |

You are stationed as a police officer, you
receive reliable information of preparations

to violently disrupt upcoming local body

elections. You should : i
(A) ban political campaign events a
restrict assembly. .

(B) conduct preventive detentions ¥

' avoid subversion.

(C) mobilize auxiliary police
augmentation in vulneral_nle areas{he
(D) recommend  postponing

electoral process.
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